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Simplify the following Radicals
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Solve the following equations by looking at their graphs.

Write solution as x = as well as the coordinate (__, 0)
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- What is th !w’f each equation and what does it mean about the solutions?
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Solve the equation using square roots. Round your solutions (o the nearest hundredth,
il necessary.
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MODELING WITH MATHEMATICS At a Civil War
reenactment, a cannonball is fired into the air with
an initial vertical velocity of 128 feet per second.
The release point is 6 feet above the ground. The
function h = — 1612 + 128t + 6 represents the
height /i (in feet) of the cannonball after ¢ seconds.

a. After how many seconds does the canon ball reach the/ground?
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